Octoben - 2015
F.Y.B.Com.
Paper — 4: Business Mathematics

Time: 3 Hours code: olg Total Marks: 100
Al @) g &, 120]
dx
% g : (i) y= g; (i) y=x(3+ 1)
(i) x+1-y* =0 (iv) vy= (2x + 3}{x* = 7x + 5)
OR uAqL
Ql @) fg & . [10]
dx
% WAl (i) y= 0T (i) y=e'+t?+3t, x=t*+e
{b) Find minimum value for the following function. [05]
a1 (383 W2 Yrau Fuq i),
f(x) =300 — 20x + x2
(¢} Find maximum value for the followipgfinction. [05]
At (82 W2 ugdu Bud 3,
fix) = 21x — x?
Q.2 (a) Integrate the following with respect to x: {20]
Dntd x A wdd Asa-adinm):
(i) XATx+10 ;7;2”0 () Tog= (i ‘j; (v) 3x2 424213
OR
Q.2 (a) Evaluate the following definite integral: [15]
(R Rud 2isan Anqy;
o D S Loe ]
(i) _!'(Sx—4)(2—5x)dx (ii) £2x e“dx (i) {m dx
(b) Find the area of a circle x* + y2 =4 using integration. [5]

Asartll Guaia 5803 adnn X2 + y? = 4 o Aast e,
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Q.3

Q.3

Q.4

(b)

(b)

Prove that:
A, 53] &:

a b c
a—b b—c c—a|=a®>+b*+c®-3abc
b+c c+a a+b
Solve the following equations using matrix inversion method:

A2 20y wlsReUA @1d SRS Dol G3a:
X+3y+z=1, x+y+2z=1, X+2y+3z=1
OR aa
Find A>— A +1 for the following matrix A.
(M- Als A w2 AP — A+ 2ial.

A=

[ I
[ SN O B A
L O B A

Prove that A® = 4A for the following matrix A.
R Afis A w2 A% =44 wlbia sa.

]

Evaluate:
[F4a Audl :
9 7 6 5 1940 1965
(iy 13 11 2 {ii} |4 1950 1970
8 12 7 7 1960 1995

Explain: {i) Constraints (ii) Objective function {jii) Feasible solution
(iv) Optimum solution (v) Surplus variable

wuonal: (i) uloiedd (i) Sgasl RAu (lii) nsu 63 (iv) Sredu G3a
(v) 2alre ge (e AN a4)

Solve the following LP problem using Simplex method:

Maximize Z=3%1+ 2%,

Subjectto  2x;+x; <10, x3+3x,<6 and x;, X, 20

[10]

(10]

[5]

[10]

[10]

[10]
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Q.4

Q.5

(a)

(b)

(a)

A-u Y3w 2l AHAA) 63 e Mwderl Ad Andl:

2)(1 + % £ 10, X1+ 3)(2 <6 Q'l'% X1, %3 2 04 Q’{ijl"l Z=3X1 + 2x5 '{1 [?é"l.('l HddH
Yy,

OR wYql
Solve the following LP problem using graphical method:
Maximize Z =300x + 400y

Subjectto  5x+4y < 200, 3x + 5y < 150, 5x + 4y = 100, 8x + 4y = 80
and x,y=0

AL Y2 el auzadl 634 sudvidl Ad Al

5x + 4y < 200, 3x + 5y < 150, 5x + 4y > 100, 8x + 4y = 80 2 x, y = 0
A 20 8 Z = 300x + 400y L EHd Hsawn 2.

Solve following transportation problem using (i) North West Corner
method and (ii) Vogel’s Approximation method :

a2l g caggRd anul 636 (i) e vaid Ad 24 (i) ddad

A1l [Fd dd Hna),

D E F G'| Supply (u2aél)

A 19 | 30 50\°| 10 7
B 70 | 30 40 | 60 -9
C 40 8 70 | 20 18

Demand (wia) | 5 8 7 14

Write formula forghe following:

(i) n™ term of an A.P. and sum of its first n terms

(ii) n" term of a G.P, and sum of its first n terms

(iii) Arithmetic mean, Geometric mean and Harmonic mean
(iv) Simple interest and compound interest

(v) Compound interest when interest is count twice a year.

EBLTRVEETEIRNE
(i) anidz 2elld n 4 ue 21 d-d waw n Y )

(i) wwapetiar Sl n 3 ue 23 A uas n Uddl wa)

3

[10]

(10]
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Q.5

(b)

(a)

(b)

(c)

(ifi) AHIdR HEUS, ANABNAR HERS WA 23 HEUS
(iv) g e 2m wsqlen cuo
(v) R adui 6 quid e awd i asqlE e
Write a short note on (i) “Sinking Fund” {(ii) Annuity | [10]
gsriaanil: (i) “RilZags” (i) “slusR“
OR  udl

ABC bank pays back 21 times the amount invested for 20 years. Find [5]
out the rate of compound interest.

ABC -5 d cui 20 ad w2 A3an el 21 o@l vrd 53 9. di asqlt cno) €2
N

Find the difference of a 15% simple interest and compound interest of [5]
Rs. 40,000 for 2 years.

3. 40,000 W12 15% - €3 2 it AUEL oy w1 A5[R% cpageil dgtald e

For an A.P. 55 = 10, T]_O = 37. Find T15. [5]
s uuiaz Sl W Sg = 10, T;g=37 9. Tys Ak

Find5+ 55+ 555+ ......... upto n terms, [5]

-

5+ 55+ 555 + ,....... n Ui Qelril A0 NI,
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